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MPPCS 2015 Mains-III

lkekU; vè;;u
GENERAL STUDIES

r`rh; iz'u&i=k
Third Paper

le;% 3 ?kaVs	 ¹iw.kk±d% 300 ([k.M&v 150 + [k.M&c 150)º
Time: 3 Hours	 [Total Marks: 300 (Part-A 150+Part-B 150)]

	ijh{kkfFkZ;ksa ds fy;s funsZ'k%
Instructions to the candidates:

bl iz'u&i=k esa [k.M&v ,oa [k.M&c gSaA izR;sd [k.M 150 vad dk gSA izR;sd [k.M gsrq i`Fkd~ mÙkj&iqfLrdk iznku dh 
xbZ gSA
This question paper consists of Part-A and Part-B. Each part carries 150 marks. For each  Part A and B separate 
Answer Book is provided.

	 1-	izR;sd [k.M esa dqy rhu iz'u gSaaA lHkh iz'uksa ds mÙkj nsuk vko';d gSA iz'u Øekad 02 rFkk 03 esa vkarfjd fodYi 
gSaA iz'u Øekad 02 esa 'kCn lhek 100 gS rFkk iz'u Øekad 03 esa 'kCn lhek 300 gSA

		  Each part of this question paper consists of 03 questions. All questions are compulsory. Question Nos. 02 
and 03 have an internal choice. For Question No. 02 word limit is 100 words and for Question No. 03 word 
limit is 300 words.

	 2-	iz'uksa ds mÙkj mlh ekè;e esa fy[ks tkus pkfg, ftldk p;u vkius vkosnu&i=k esa fd;k gSA fdlh vU; ekè;e esa 
fy[ks x, mÙkj ij dksbZ vad ugha feysxkA lHkh 03 iz'u djuk vfuok;Z gSA iz'u&i=k ds vuqlkj gh iz'uksa ds mÙkj 
Øekuqlkj nsa] ,d gh iz'u ds fofHkUu Hkkxksa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk;sa rFkk muds chp vU; 
iz'uksa ds mÙkj u fy[ks tk;saA ijh{kk esa lkekU; dSydqysVj gh mi;ksx esa fy;k tk ldrk gS] lkbfUVfiQd ughaA

		  Answers should be written in the medium which you have opted in your Application Form. No marks will 
be awarded, if the answer is written in any other medium. All the three questions must be answered. Question 
should be answered exactly in order in which they appear in the question paper. Answers to the various parts 
of the same question should be written together compulsorily and answers of other question should not be 
inserted between them. Simple calculator alone can be used in the exam, not the scientific one.

	 3-	izFke iz'u y?kq mÙkjh; gS] ftlesa 15 vfuok;Z iz'u gSaA izR;sd dk mÙkj ,d vFkok nks iafDr;ksa esa nsuk gSA
		  The first question is of short answer type consisting of 15 compulsory questions. Each one is to be answered 

in one or two lines.

	 4-	tgk¡ 'kCn lhek nh xbZ gS mldk vo'; ikyu djsaA
		  Wherever word limit has been given, it must be adhered to.

	 5-	;fn fdlh iz'u esa fdlh izdkj dh dksbZ eqnz.k ;k rF;kRed izdkj dh =kqfV gks] rks iz'u ds fgUnh rFkk vaxzsth :ikarj.k 
esa ls vaxzsth :ikarj ekud ekuk tk;sxkA

		  In case there is any error of printing or factual nature, then out of the Hindi and English versions of the 
question, the English version will be treated as standard.
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[kaM&v
Part-A

	 1.	fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k,%� 15 × 3 = 45
	 	Write one or two sentences on the following:

	 (a) 	 vkxZu xSl ,oa mi;ksx
	  	 Argon gas and its uses

	 (b)	 tsy&ØksesVksxzkiQh
	 	 Gel-Chromatography

	 (c)	 jlsy&lkW.MlZ difyax
	 	 Russel-Saunder’s Coupling

	 (d)	 vkblkscklZ
	 	 Isobars

	 (e)	 f}d&yo.k
	 	 Double Salts

	 (f)	 uSuks&VsDuksykWth
	 	 Nano-technology

	 (g)	 Dyksu
	 	 Clone

	 (h)	 ikS/ksa esa iqu#Riknu
	 	 Reproduction in plants

	 (i)	 euq"; esa vkuqoaf'kd chekfj;k¡
	 	 Hereditary diseases in man

	 (j)	 lksyj lsy
	 	 Solar Cell

	 (k)	 uscqys
	 	 Nebulae

	 (l)	 Ý;wt
	 	 Fuse

	 (m)	 vYVªklksuksxzkiQh
	 	 Ultrasonography

	 (n)	 4&th (prqFkZ tujs'ku)
	 	 4G (Fourth Generation)

	 (o)	 Hkkj
	 	 Weight

	 2.	fuEufyf[kr esa ls fdUgha 10 iz'uksa ds mÙkj yxHkx 100 'kCnksa esa nhft,%� 10 × 6 = 60
	 	Answer any 10 questions in about 100 words from the following:

	 (a) 	 ckSf¼d laifÙk vf/dkj D;k gS\
	  	 What is Intellectual Property Right?
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	 (b)	 izdk'k mRltZu Mk;ksM (LED) dks le>kb,A
	 	 Explain Light Emitting Diode (LED).

	 (c)	 bZ&viO;; izcU/u D;k gS\
	 	 What is e-waste management?

	 (d)	 vy&uhuks (EL-Nino) D;k gS\
	 	 What is EL-Nino?

	 (e)	 ck;ks&ekl mQtkZ D;k gS\
	 	 What is bio-mass energy?

	 (f)	 tyok;q ifjorZu ,oa Xykscy okfe±x gsrq Hkkjrh; vuqfØ;k nhft,A
	 	 Give Indian response to climatic change and global warming.

	 (g)	 tSfod ra=k esa lksfM;e vk;u ,oa iksVSf'k;e vk;u dh Hkwfedk D;k gS\
	 	 What is the role of Na+ion and K+ion in biological system?

	 (h)	 iw.kZ vkUrfjd ijkorZu ,oa mlds izk;ksfxd mi;ksxksa dh foospuk dhft,A
	 	 Discuss total internal reflection and its practical applications.

	 (i)	 izksdSfj;ksfVd rFkk ;wdSfj;ksfVd dksf'kdkvksa dks la{ksi esa le>kb;sA
	 	 Explain in brief about prokaryotic and eukaryotic cells.

	 (j)	 vkstksu ijr vo{k; (fjDrhdj.k) ,oa mlds izHkko dks le>kb;sA
	 	 Explain Ozone layer depletion and its effects.

	 (k)	 ,d dLcs dh tula[;k 176400 gSA blesa 5% okf"kZd nj ls o`f¼ gksrh gSA 2 o"kZ ckn dLcs dh tula[;k 
fdruh gksxh\

	 	 The population of a town is 176400. There is increase in it at the rate of 5% annually. What will be the 
population of the town after two years?

	 (l)	 fdlh /ujkf'k ds 5% okf"kZd nj ls 3 o"kZ ds pØo`f¼ C;kt rFkk lk/kj.k C;kt esa vUrj ` 61 dk gS] ewy 
/u Kkr dhft,A

	 	 The difference in compound and simple interest of any amount of money of 3 years at the annual rate 
of 5% is ` 61. Find the principle amount.

	 3.	fuEufyf[kr iz'uksa esa ls fdUgha rhu iz'uksa ds mÙkj yxHkx 300 'kCnksa esa nhft,%� 3 × 15 = 45
	 	Answer any three of the following questions in about 300 words each:

	 (a) 	 i;kZoj.k laj{k.k esa /kj.kh; fodkl dh Hkwfedk dks le>kb;sA
	  	 Explain the role of sustainable development in environment protection.

	 (b)	 lkekftd ,oa vkfFkZd fodkl esa foKku o rduhdh ds mi;ksxksa dh foospuk dhft,A
	 	 Discuss applications of science and technology in social and economic development.

	 (c)	 dkcZu ds fofHkUu vi:iksa (,yksVªkWfid :iksa) ,oa muds mi;ksx fyf[k,A
	 	 Write down the different allotropic forms of carbon and their uses.

	 (d)	 ,d vk;rkdkj IykV 13.5 ehVj yEck rFkk 2.5 ehVj pkSM+k gSA blesa ,d vk;rkdkj Vadh (5 ehVj × 4.5 
ehVj × 2.1 ehVj) [kksnh xbZ gS] blesa ls fudkyh xbZ feV~Vh dks IykV ds 'ks"k Hkkx esa leku :i ls fcNk;k 
x;k gSA IykV ds /jkry dh m¡QpkbZ esa o`f¼ fudkfy,A

	 	 A rectangular plot is of length of 13.5 metre and breadth of 2.5 metre. A rectangular tank (5 metre × 
4.5 metre × 2.1 metre) is dug in it. The soil taken out from it is spread uniformly in the remaining part 
of the plot. Find increase in the height of the surface of plot.
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	 (e)	 4 vkneh rFkk 6 efgyk;sa feydj fdlh dk;Z dks 8 fnu esa iwjk dj ldrs gSa] tcfd 3 vkneh rFkk 7 efgyk;sa 
feydj bl dk;Z dks 10 fnu esa iwjk dj ldrs gSaA 10 efgyk;sa bl dk;Z dks fdrus fnu esa iwjk djsaxh\

	 	 4 men and 6 women jointly can complete any work in 8 days, while 3 men and 7 women jointly can 
complete this work in 10 days. 10 women will complete this work in how many days?

[kaM&c
Part-B

	 1.	 fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k,%� 15 × 3 = 45
	 	Write one or two sentences on the following:

	 (a) 	 fyax vlekurk lwpdkad
	  	 Gender inequality index

	 (b)	 vlwfpr voS/ vk;
	 	 Unreported illegal income

	 (c)	 lap; eqnzk
	 	 Reserve Money

	 (d)	 vfxze cSad ;kstuk
	 	 Lead Bank scheme

	 (e)	 'kgjhdj.k
	 	 Urbanisation

	 (f)	 vk;kr izfrLFkkiu
	 	 Import Substitution

	 (g)	 fdlku lk[k@½.k i=kd
	 	 Kissan Credit Cards

	 (h)	 fofuos'k
	 	 Disinvestment

	 (i)	 vYi&jkstxkj
	 	 Under-employment

	 (j)	 ekuoh; fodkl lwpdkad
	 	 Human Development Index

	 (k)	 lqjf{kr HkaMkj
	 	 Buffer Stock

	 (l)	 [kqnjk ½.k
	 	 Retail Loans

	 (m)	 lkekftd U;k;
	 	 Social Justice

	 (n)	 fefJr vFkZO;oLFkk
	 	 Mixed Economy

	 (o)	 okf.kfT;d i=k
	 	 Commercial Paper
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	 2.	fuEufyf[kr iz'uksa ds mÙkj yxHkx 100 'kCnksa esa nhft,%� 10 × 6 = 60
	 	 Answer the following questions in about 100 words each:

	 (a) 	 vfodflr jk"Vªksa dh fo'ks"krkvksa dh foospuk dhft,A
	  	 State the characteristics of under-developed countries. 

vFkok@OR

	 	 ldy ?kjsyw mRikn vkSj 'kq¼ ?kjsyw mRikn ij laf{kIr fVIi.kh djsaA
		  Write brief on GDP & NDP.

	 (b)	 vkfFkZd fodkl ls vki D;k le>rs gSa\ ,d jk"Vª ds vkfFkZd fodkl esa iw¡th fuekZ.k dk mYys[k djsaA
	 	 What do you understand by economic development? Discuss the role of capital formation in the 

economic development of the country.

vFkok@OR

	 	 Hkkjr esa xjhch dh izÑfr ,oa dkj.kksa dk mYys[k djsaA blds lek/ku gsrq vki D;k lq>ko ns ldrs gSa\
		  Discuss the nature and causes of poverty in India. What measures can you suggest to deal with 

this problem?

	 (c)	 Hkkjr dh uohu vkfFkZd uhfr ds izeq[k rRoksa dk mYys[k djsaA fiNys nl o"kks± esa blds vkS|ksfxd fodkl ij 
izHkko dk ewY;kadu djksA

	 	 Discuss the main elements of New Economic Policy of India. Evaluate its impact on industrial 
development during the last 10 years.

	 (d)	 eè; izns'k dh o`f¼ esa lgdkjh vkanksyu dh Hkwfedk dh foospuk djsaA
	 	 Discuss the role of co-operative movements in the growth of Madhya Pradesh.

vFkok@OR

	 	 eè; izns'k ds fodkl esa eè; izns'k ljdkj }kjk orZeku esa mBk, x, dneksa dk mYys[k djsaA
		  Discuss the latest steps taken by M.P. Govt. for the development of the state.

	 (e)	 eè; izns'k ds vkfFkZd fodkl esa jsy ;krk;kr ds egÙo dks le>kb,A
	 	 State the importance of rail transport in the economic development of Madhya Pradesh.

vFkok@OR

	 	 eè; izns'k esa VsfydkWe {ks=k ds fodkl ij laf{kIr fVIi.kh djsaA
		  Write a brief note on development of Telecom in Madhya Pradesh.

	 (f)	 1991 esa HkweaMyhdj.k ds fy;s Hkkjr ljdkj }kjk mBk, x, dneksa dk mYys[k djsaA bl lanHkZ esa vki vkSj D;k 
lq>ko nsuk pkgsaxs\

	 	 Discuss the steps taken by Govt. of India towards globalisation since 1991. What further measures you 
would like to suggest in this regard?

vFkok@OR

	 	 Hkkjr esa xzkeh.k csjkstxkjh dh leL;k dks tk¡psaA bl leL;k ds lek/ku gsrq dh xbZ igyksa dk losZ{k.k laf{kIr 
:i esa djsaA

		  Examine the problem of rural unemployment in India. Briefly review the policies initiated to solve 
this problem.
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	 (g)	 SGSY ij laf{kIr fVIi.kh djsaA
	 	 Write a brief note on SGSY.

vFkok@OR

	 	 MGNREGA ds fo"k; esa vki D;k tkurs gSa\ xzkeh.k xjhch dh leL;k ds lek/ku esa ;g fdruh liQy gks 
ikbZ gS\

		  What do you know about MGNREGA? How far it has succeeded in solving the problem of rural poor?

	 (h)	 SEBI dh dk;Ziz.kkyh ij laf{kIr fVIi.kh djsaA
	 	 Write brief note on working of SEBI.

vFkok@OR

	 	 ,d ns'k ds vkfFkZd fodkl esa tu foÙk dh Hkwfedk D;k gS\
		  What is the role of Public Finance in the economic development of the country.

	 (i)	 Hkkjr esa vkfFkZd fiNM+kiu vkSj {ks=kh; vlekurk ds D;k dkj.k gSa\ vki bu leL;kvksa ds lek/ku ds fy;s 
D;k lq>ko nsaxs\

	 	 State the causes of economic backwardness and regional imbalances in India. What measures would 
you like to suggest to solve this problem?

	 (j)	 mnkjhdj.k vkSj futhdj.k dks ifjHkkf"kr dhft,A 1991 dh uhfr esa buds izko/kuksa dk o.kZu djsaA
	 	 Define Liberalization and Privatization. Discuss the provision taken in New Industrial Policy 1991.

vFkok@OR

	 	 [kqyk O;kikj vkSj lqjf{kr O;kikj D;k gS\ nksuksa esa foHksn dhft,A
		  Define free trade and protection trade? Distinguish between the two.

	 3.	 fuEufyf[kr iz'uksa dk mÙkj yxHkx 300 'kCnksa esa nhft,%	 3 × 15 = 45
	 	 Answer the following questions in about 300 words:

	 (a) 	 lekos'kh fodkl D;k gS\ Hkkjr esa lekos'kh fodkl us xjhch dks de djus esa dSls lgk;rk dh gS\
	  	 What is inclusive growth? How it has helped in poverty reduction of the country?

	 (b)	 eè; izns'k dh vFkZO;oLFkk esa Ñf"k dk D;k egÙo gS\ Ñf"k {ks=k esa izR;{k vFkZlkgkÕ; ls D;k ijs'kkfu;k¡ gSa\
	 	 Discuss the importance of agriculture in economy of Madhya Pradesh. What is the problem of direct 

subsidy for agriculture?

vFkok@OR

	 	 jk"Vªh; dkS'ky fodkl uhfr dk ewY;kadu djsaA eè; izns'k esa blds izpkyu ds fy;s lq>ko nsaA
		  Critically examine national skill development policy. Suggest some measures to implement this in M.P.

	 (c)	 dkyk /u D;k gS\ Hkkjr ljdkj }kjk orZeku esa bl leL;k dks gy djus ds fy;s D;k dne mBk, x, gSa\
	 	 What is Black Money? Discuss recent steps undertaken by Government of India to curb this problem.

vFkok@OR

	 	 eè; izns'k esa ekStwnk iwath cktkj dk vkykspukRed ewY;kadu dhft,A
		  Critically examine the recent trends of capital market in Madhya Pradesh.


